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1: Which database engine is used in Cisco Unity Connection? 

A.PostgreSQL 

B.MySQL 

C.Informix 

D.SQL Server 

Correct Answers: C 

 

2: What is the maximum number of supported ports for a single-server implementation using 

Platform Overlay 2? 

A.16 

B.48 

C.96 

D.144 

Correct Answers: C 

 

3: What are the minimum system requirements to install Cisco Unity Connection? 

A.1-GHz processor, 1-GB RAM, 80-GB hard disk 

B.2-GHz processor, 2-GB RAM, 80-GB hard disk 

C.2-GHz processor, 2-GB RAM, 160-GB hard disk 

D.3-GHz processor, 4-GB RAM, 160-GB hard disk 

Correct Answers: B 

 

4: How many phones and mailboxes may be supported with the Cisco Unified Communications 

Manager Business Edition? 

A.225 phones, 250 mailboxes 

B.575 phones, 500 mailboxes 

C.700 phones, 750 mailboxes 

D.1250 phones, 1000 mailboxes 

Correct Answers: B 

 

5: How many standalone Cisco Unity Connection servers can be digitally networked to provide a 

larger voice-mail deployment? 

A.3 

B.5 

C.7 

D.9 

Correct Answers: B 

 

6: What is the maximum number of voice-mail subscribers that can be deployed in a Cisco Unity 

Connection digitally networked solution? 

A.10,000 

B.35,000 

C.50,000 

D.75,000 



Correct Answers: C 

 

7: What is the maximum number of integrated messaging subscribers that can be deployed in a 

Cisco Unity Connection digitally networked solution? 

A.10,000 

B.35,000 

C.50,000 

D.75,000 

Correct Answers: B 

 

8: Which protocol is used to exchange information between VPIM networked voice-mail systems? 

A.SCCP 

B.SIP 

C.SNMP 

D.SMTP 

Correct Answers: D 

 

9: Which choice most accurately describes the licensing components for Cisco Unity Connection? 

A.port licensing for phone system integration; seat licensing for voice mail, integrated messaging 

services, and VPIM licensing 

B.port licensing for phone system integration 

C.end-user licensing based on the number of users for voice mail, IMAP access to voice mail, 

voice recognition, Cisco Unity Inbox, and email TTS 

D.port licensing and VPIM licensing 

Correct Answers: A 

 

10: Which two of these methods can be used to integrate Cisco Unity Connection to the Cisco 

Unified Communications Manager? (Choose two.) 

 

A.SIP 

B.PIMG 

C.SCCP 

D.TIMG 

Correct Answers: A C  

 

11: Which two products provide connectivity to circuit-switched phone system integrations? 

(Choose two.) 

A.SIP 

B.PIMG 

C.SCCP 

D.TIMG 

Correct Answers: B D  

 

12: What is the maximum number of phone system integrations that is supported by the Cisco 



Unity Connection? 

A.1 

B.5 

C.10 

D.unlimited 

Correct Answers: D 

 

13: Which three methods or protocols are used to provide integrated messaging services for 

voice-mail clients? (Choose three.). 

A.SNMP 

B.IMAP 

C.SMTP 

D.WebDAV 

E.SCCP 

F.web services 

Correct Answers: B D F  

 

14: What is one of the voice recognition capabilities of Cisco Unity Connection? 

A.dial by name 

B.call volume 

C.dial by number 

D.call transfer 

Correct Answers: A 

 

15: Which Java 2 Platform, Standard Edition version can be used for all platforms and browsers? 

A.1.5.0_3 

B.0.9.5 

C.1.5.0_6 

D.1.4.2 or higher 

Correct Answers: C 

 

 


